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QUESTION 1

Two routers are connected via serial interfaces and the link-protocol is PPP, but the MRU of two serial interface\\'s are
different, in PPP LCP negotiated stage, what will happen? 

A. LCP negotiation will fail 

B. Negotiation will use the smaller value 

C. Negotiation will use the larger value 

D. Negotiation will use 1500 

Correct Answer: B 

 

QUESTION 2

If the network address of a network is 10.1.1.0/30, then its broadcast address is ()? 

A. 10.1.1.1 

B. 10.1.1.2 

C. 10.1.1.3 

D. 10.1.1.4 

Correct Answer: C 

 

QUESTION 3

When the packet security mode of IPSec is tunnel mode, the IP address of the intranet host is hidden. The reason for
this is to protect the entire original data. Package security 

A. Yes 

B. Wrong 

Correct Answer: A 

 

QUESTION 4

The following analysis of ICMP messages is correct (). (multiple choice) 

A. ICMP messages can record time, including original time, receiving time, and sending time. 

B. ICMP packets are encapsulated in IP packets without being encapsulated in the transport layer. 

C. ICMP packets protect ICMP error packets, control packets, request/response packets, and refresh packets. 
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D. ICMP does not support redirection 

E. ICMP messages cannot be used to detect MTUs in a path. 

Correct Answer: BC 

 

QUESTION 5

Refer to the graphic. 

The administrator has configured an IP address for Host A and Host B, but had forgotten to configure a default
gateway. 

What effect will this have on the hosts? 

A. Neither host will be affected, and therefore will be able to communicate with the peer. 

B. Host A will be unable to connect to the router\\'s G0/0/0 interface. 

C. Hosts will be unable to comminicate unless arp-proxy is enabled on the router. 

D. The host will be unable to reach neither the local nor remote network destinations . 

Correct Answer: C 
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